ADDITION UP TO NUMBER 10
KS1 —-2002 Paper

1.

Practice question

Only one of these is correct.

Draw a tick (v') on it.
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Only one of these is correct.

Draw a tick (v/) on it.
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KS1 -2004 Paper 1
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Write the total.

/+3+8+2=

KS1 —-2007 Paper 1
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4 Write the answer.

/ + 5+ 7 =

KS1 - 2009 Paper 1

5.

) Write the answer.

L + 4L+ 2+ 2 =

KS1 —2016 Paper - Arithmetic

6.

5+ 7 =




+ 5

8+5+ 4=

KS1 — 2016 Paper - Arithmetic (Second)

9.

8 +6 =

1 mark
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L+5+6=

1 mark

KS1—2017 Paper — Arithmetic

11.

/ + 8=

KS1 — 2018 Paper — Arithmetic
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2+ 7 =

KS1 — 2019 Paper — Arithmetic

13.

+8=12

KS1 —2022 Paper — Arithmetic
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3+ 2=

3+7 =




